NSN 3010-01-182-3536 AeroBase

Clutch Clamp Parts Kit - Page 1 of 1 J— Group

View Online at https://aerobasegroup.com/nsn/3010-01-182-3536

General Description:

4 nut hex. 5/8-18 unf 2a; 4 screw, hex. Head cap, 5/8-18 unf 2a by 2 1/4 in. Lg; 8 washer, flat, 5/8 in. Dia; 4 eye bolt fscm 97578 p/n
46296¢765; 4 clamp fscm 97578 p/n 46296e763

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No


https://aerobasegroup.com

